

VIDYA MANDIR MANDAL'S MATOSHREE SUMATI CHINTAMANI TIPNIS COLLEGE OF ARTS AND COMMERCE

Mamdapur, Neral, Tal. Karjat, Dist. Raigad- 410101.
NAAC Accredited With "B" Grade

Gender Equity & Sensitization Promotion Activities & Facilities

Specific Facilities Provided for Women in terms of:

a) **SAFETY AND SECURITY**:

Following adequate precautions are taken to ensure safe and secure Campus for Women:

- 1. Well-trained security guards are deployed at key locations.
- 2. Identity cards are mandated for everyone on campus.
- 3. High end CCTV cameras are installed at prominent locations as well as in most classrooms.
- 4. Institute also ensures social security through Anti-Ragging Committee, Grievance Redressal Committee (Vishakha Committee). Institute ensures that there are absolutely no instances of ragging or sexual harassment on the campus.

Well-trained security guard



High end CCTV cameras are installed at prominent locations

High end CCTV cameras are installed at prominent locations as well as inmost classrooms. There are 64 CCTV cameras are installed in College Premises







Cameras Bill:

Dealers of : DCTV Camera, Home / Shop Security Systems EPABX & Bldg Intercom System, Public Address System

Correson

Video Door Phones, Biometric System

DATE:15 MAR 2014

Inv No. 41

Name: Vidya Mandir Mandal Address: Neral Vidya Mandir, Neral

No	Particulars	Qty	Rate (each)Rs.	Amount(Rs)
1	Dome Camera Hilorision make	51	2700	1,37,700.00
2	Bullet Camera 20mtr IR Hikuskon make	13	3500	45,500.00
3	32 Channel Standalone DVR Hikvision make	2	52500	1,05,000.00
4	Power supply for cameras	1	15400	15,400.00
5	Hard disk seagate 2 TB	2	8500	17,000.00
6	Video Distribution amplifier	1	3800	3,800.00
7	LCD Television 32 "inches	3	28000	84,000.00
			Sub Total	4,08,400.00
			Discount	25,525.00
	SAPERAL REPORT OF THE SAME		special discount	5,000.00
			special discount	3,000.00
		-	Total	3,74,875.00
			VAT @12.5%	46,859.3
			Round up	-0.3
	IN No.: 27680244111V	-	Grand Total	4,21,734.0

Buyer's VAT No.

Amount in words: Four Lac twenty one thousand seven hundred thirty four only.

I/We hereby cerity that my/our registration under the maharashtra value added tax act 2002 is in force on the date on which the sale of goods specified in this tax invoice is made by me/us and that the transaction of sale covered by this tax NOTE: Goods once sold will not be taken back. warranty by company serive centre only.

Subject to kalyan Jurisdiction.

Thanking You

Shop 4, Aditi Apt., Opp. Monginies, Near Railway Station, Badlapur (6 Ph. 0251 - 2694443 Mobile: 97666 61333 E-mail: bluestar.elec

rder Ref: fispach: 976 tte 1350.00 7500.00 50.00 2000.00 350.00 6500.00	8-17 69992969 Quantity 8 1	Amount (Rs.) 10800.0 7500.0
lispach: 1350.00 7500.00 50.00 2000.00 350.00 6500.00	Quantity 8 1 140	10800.0
1350.00 7500.00 50.00 2000.00 350.00 6500.00	8 1 140	10800.0
7500.00 50.00 2000.00 350.00 6500.00	1 140	0.0000000000000000000000000000000000000
7500.00 50.00 2000.00 350.00 6500.00	1 140	0.0000000000000000000000000000000000000
50.00 2000.00 350.00 6500.00	140	7500 n
2000.00 350.00 6500.00		1000.0
350.00 6500.00	E	7000.0
6500.00	5	10000.0
	8	2800.0
	.1	6500.0
500.00	8	4000.0
1400.00	1	1400.0
0193500000		1100.0
	78	50,000.00
Total :-	-6	- Col
E&O.E.	de IT Warks	O N TO
	E&O.E.	

Allahabad Bank Ch. no: 044871 Dt. 03/07/2017

Del 01/2

Cash / Bank Voucher

VIDYA MANDIR MANDAL

Swastik House, Taikal Wadi, Mahim - 400 016. Tel : 2432 1713

F	PARTICULARS		AMOU Rs.	NT Ps.
Received from Vidya Mandir Mand		only in cash I	50,000 (-) 500	1000000
by cheque no. 044871 only Paid to Pride work at Nera	IT Works for	as follows:		
		Jotal	49,500	:00
Approved by Secretary / Treasurer	Prepared by Clerk	, s	fanus ignature of R	100

	Tax Invoice				
Pride IT Works		Numbe	er:- 003 -17	Date:-1	9.09.2017
C/6, 3rd floor, Hari Niwas, L. J. Road,		Buver's	order Ref	-	5.05.2017
Shivaji Park, Dadar (W), Mumbai 400028		-	pplier's ref.		
GST No. 27ARBPK2029B1ZE	D	espatch Doc			
(Mobile No) :- 9769992969					
Workspride@gmail.com			th through. eferences:-		
Buyer Name: Vidya Mandir Mandal	D	espatch Doc			
swastik house, Taykal Wadi,	-		livery note		
Mahim Mumbai 400016	Tr	erms if any:-			
GST No.27AABCV25721Z0	- "	cins n any.			
Description of Goods	HSN/SAC No.	GST Rate	Quantity	Rate (Rs)	Amount
					(Rs.)
IR Dome :- Avtron Dome	85219090	18%	16	1,850.00	29600.00
DVR 16 PORT	85258020	18%	1	10,200.00	10200.00
3+1 CCTV Cable conduit with 25 mm PVC Pipe	995461	28%	574	35.00	20090.00
Power Supply 12V DC	8504	28%	2	1,450.00	2900.00
Hard Disk 2 TB surveillance purple WD	84733020	18%	1	6,500.00	6500.00
Camera Installation & with Gang box	998519	18%	16	500.00	8000.00
DVR configuration & Internet integration	998519	18%	1	1,500.00	1500.00
cable lying labour charges	998519	18%	574	20.00	11480.00
			-0.00		
BANK DETAILS				Total	90270.00
BANK NAME:- IDBI BANK,MAHIM BRANCH, Mumbai-16	1 1			S GST	9273,80
ACCOUNT NO. 0767102000006262 IFSC: IBKL0000767				CGST	9273.80
PAN Card No.	1 1			Total Tax	18547.60
ARBPK2029B			Gran	d Total :-	108,817.60
ARBPK2029B HSN/SAC No. 85219090 85258020 84717020	Taxable Value	Centra			е Тах
85219090		9%	2664.00	9%	2664.00
85258020		9%	918.00	-	918.00
84717020		9%	585.00	9%	585.00
0 00 1		9%	1888.20	9%	1888.20
8504		14%	40ä.00	14%	406.00
Co 1/10		14%	2812.60	14%	2812.60
m			9273.80		9273.80
Townships to Bosses Wilds		Total 1	Tax Rs.		18547.60
ax value:- in Rupees Eighteen Thousand five hund	red forty sev	en& paise s	sixty only	6	
Rupees One lacs Eight thounsand eight hundred se	venteen & P	aise sixty o	nly /	story +	
Declaration: We declare that this Invoice shows the act the goods described and that all perticulars are true and the goods described and that all perticulars are true and the goods described and that all perticulars are true and the goods described and that all perticulars are true and the goods described and that all perticulars are true and the goods described and that all perticulars are true and the goods described and that all perticulars are true and the goods described and that all perticulars are true and the goods described and that all perticulars are true and the goods described and that all perticulars are true and the goods described and that all perticulars are true and the goods described and that all perticulars are true and the goods described and that all perticulars are true and the goods described and that all perticulars are true and the goods described are true and the goods described and the goods describ	ual price of id correct.			Price Inwa	rks
				Program	

6055.20 3218.60 9273-80

Received 23/9/2018 108818 - 25000 - 83818#1:1. 1834 705

Cash / Bank Voucher

VIDYA MANDIR MANDAL

Swastik House, Talkal Wadi, Mahim - 400 016. Tel.: 2432 1713

PARTICULARS	AMOUN	The second
	Rs.	Ps.
Received from VIDYA MANDIR MANDAL	108,818-	00
Rs. <u>92,979</u> — only in cash/	Adv25000-	00
by cheque no. 049861 on Allahabblated 03 1017 as follows:	83818	-00
Being the paid to Pride it work.		
as per bill for installation CCTUCDVM)	(839)	00
Camera.	/	
Total	182,979	-00
Approved by Prepared by		225



PRIDE IT WORKS

IT > Infrastructure sales & Services

2.0 × XMC &FMS Services

Security > Analog, @ surveillance System
Security > ACS, FAS, VDP Sales & Support

Date: 25/12/2017

To, Vidya Mandir Mandal Dadar Mumbai

Quote for CCTV installation

ox fichal?

Sr. No.	Description	Rate (Rs.)	QTY	Amount (Rs.)	
1	IR Dome :- Hikvision Dome 1 MP HD camera, 3.5mm lens Image Sensor: IP66 rating, IR range: up to 20m True day / night.	1025.00.	14	14350.00	
2	IR Dome :- Hikvision Bullet 1 MP HD camera, 3.6mm lens Image Sensor. IP66 rating, IR range: up to 20m True day / night.	1075.00	3	3225.00	
3	DVR 16 PORT Z.DV.16.72TL0171HGF1.1A1S + H.264 video compression - Special for HD-SDI cameras - 720P real-time recording or 1080P non-real-time recording - HDMI and VGA output at up to 1920 × 1080P resolution & Digital IIP camera support	7000.00	8-	7000.00	
4	3+1 CCTV Cable conduit with 25 mm PVC Pipe .	55.00	1500	82500.00	
5	Hard Disk 2 TB surveillance purple WD	6500.00	1	6500.00	
6	Camera Installation & with 4"X4" plastic MDF box	500.00	17	8500.00	Lak
7	12V 2Amps DC Adapter	200.00	3	600.00	
8	2 Core power cable	12.00	25	300.00	
9	4"X4" plastic MDF box	43.00	44	1892.00	
10	VGA Cable & USB Cable 20 mtr	800.00	3	2400.00	
11	VGA Cable & USB Cable 15 mtr	700.00	3	2100.00	
13	Display Splitter	450.00	1	450.00	
14	LAN (CAT6) cable with crimping	45.00	75	3375.00	
15	8 Port Network Switch	950.00	1	950.00	
			Total	134142.00	
		TA	X @ 18%	24145.56	
			Amount	158287.56	

& One men ready marline

PS - Succe TOS 11.

. C/5, 3" Floor Hair News, L.I. Road, Shivaji Park, Dadar (W), Mumbai-28 ontact Dutais: -9769993969 /70454911881 "mail: - prideworks@gmail.co

Pride IT Works

14, Mukund Mansion, Ranade Road, Opp. Nakshtra Mall, Dadar (W), mumbai-28

Site requirement - Neral Vidya Mandir

Date:-25-12.2017

	second	Foor		
			Require	ement
Sr. No.	Location	Status	cable in meter	camera
1	Block-24	not working	25	1
2	Block-21 (CAT6 CABLE USED)	Working	35	
3	Block-26	not working	40	
4	Block-27	No Camera	45	1
5	Passage-1	Working		
6	Entrance	working		
7	Staff Room A)	not working	25	
8		not working	35	
9	ICT Room	lock		
10	Computer room	lock		
11	Block-6	No Camera		1
12	Block-5	working	40	
13	Passage-3	No Camera		1
14	Passage-4	No Camera	43	1
15	Block-4	No Camera		1
16	Block-3	not working	55	
17	Block-2	No Camera	80	1
18	Block-1	No Camera		1
		Total requirement	423	8

Hikvision DVR- DS-7332HI-SH 32 PORT

Cash / Bank Voucher

VIDYA MANDIR MANDAL

Swastik House, Taikal Wadi, Mahim - 400 016. Tel.: 2432 1713

PARTICULARS	AMOUNT Rs. Ps.	
Received from VIDYA MANDIR MANDAL Rs. 79,200/- by cheque no.051808 on Allahabadated 26/12/17 as follow Reing Cha. paid to Prick it works as per bit the againt Quate Rs. 13442/ agreence	s: (7	11
800001- (Nexta CCTV Carrera)	otal 79,200 = 00	

Do	Sup espatch Doci Despatch Other re	h through. ferences:-		
Do	Despatch Doci Despatch Other re	ument No. h through. ferences:-		
Do	Despatch Doci Despatch Other re	ument No. h through. ferences:-		
Do	Despatch Other re	h through. ferences:-		
Con	Other re	ferences:-		
Con	spatch Doc			
Con				
		ivery note		
0.4	tact Person			
Urde	Given By			
HSN/SAC No.	GST Rate	Quantity	Rate (Rs)	Amount (Rs
0574	4004			
5555	3000			S. Barrier
2,000	7 (-10)	633		2000000
177,187	25.00	1000	200	8:000
	10000	1,557	10000110	
1/2003	200	10,700	Second	
1700011	25/3	200	1000000	
10777759	V 5500	0.516		12333
100,000	3533	255.4		953333
9934	20200	0.000	10.50000	1892.0
9934			123772	3000
9924	70.30			
0054	1 8550	100		10010
9954	18%	1.00	950.00	950.0
1		_	Total	134142.0
1				12102.7
		1		12102.7
1		_	Tax	24205.5
		Grand	Total :-	158,347.56
Taxable Value	Centra	Tax	sta	ate Tax
17575.00	9%	1581.75	9%	1581.7
7000.00	9%	630.00	9%	630.00
6500.00	9%	585.00	9%	585.0
600.00	14%	84.00	14%	84.00
102467.00	9%	9222.03	9%	9222.0
134142.00			otal Tax Rs.	24205.5
	ty seven & fi	fty six pais	The second second	
		Aorks	Peide IT W	oeks
	Orde HSN/SAC No. 8521 8521 8525 9954 8473 9954 8504 9954 9954 9954 9954 9954 9954 9954 9	Order Given By HSN/SAC GST Rate No. 8521 18% 8521 18% 8521 18% 8525 18% 9954 18% 8473 18% 9954 18%	HSN/SAC No. 8521 18% 14 8521 18% 3 8525 18% 1 9954 18% 55 8473 18% 17 8504 28% 3 9954 18% 12 9954 18% 3 9954 18% 3 9954 18% 3 9954 18% 3 9954 18% 3 9954 18% 3 9954 18% 3 9954 18% 3 9954 18% 1000 Grand Taxable Central Tax Value 17575.00 9% 1581.75 7000.00 9% 630.00 6500.00 9% 855.00 600.00 14% 84.00 102467.00 9% 9222.03 134142.00 To	No. GST Rate Quantity Rate (Rs)

Paid. 24-3-18. ch. 022154 (Allah. 814)

Reed - 22/3/2018

Cash Imprest Allah (814) Alc

Cash / Bank Voucher

VIDYA MANDIR MANDAL

Swastik House, Talkal Wadi, Mahim - 400 016. Tel.: 2432 1713

Voucher No	23-3-18 Date : 27-3-18 .	
PARTICULARS	AMOUNT Rs. Ps,	
Received from VIDYA MANDIR MANDAL Rs. 47565 200 only in cash./	158348:00	
by cheque no. 022154 on 022154 dated 24-3-18. as follows: Being Ant Paid to Pride IT works as per 1111, Feb-18	78348=00 783=00	l. To

Approved by

Secretary / Treasures

Prepared by

EP) Clerk

Signature of Receiver

77565=00

Total

Number:- 102-19 Date:-19/09/2019 Pride IT Works Buyer's order Ref: C/6, 3rd floor, Hari Niwas, L. J. Road, Supplier's ref. Shivaji Park, Dadar (W), Mumbai 400028 Despatch Document No. GST No. 27ARBPK2029B1ZE Despatch through. (Mobile No) :- 9769992969 Other references: Workspride@gmail.com Despatch Document No. Buyer Name: Vidya Mandir Mandal Delivery note Swastik House, Manorma marg, Taikalwadi Contact Person MR.MANGESH SIR Mahim, Mumbai 400016 Order Given By Quantity Rate (Rs) Amount GST Rate HSN/SAC Description of Goods (Rs.) No. 3422.00 212164.00 8525 18% 62 CCTV Camera digital IP (Dome) 7434.00 7434.00 18% 1 CCTV Camera digital IP (night vision*) 8525 33200.00 16600.00 8521 18% 2 32 port 2 MP Network Video Recorder-38400.00 9600.00 IP DVR Hard Disk Drive (4T8)Surveillance*_ 18% 4 8471 43960.00 4396.00 8525 18% 10 Network POE switch 8 port 65047.50 53.10 Cabling including all fixture & Casing required 1225 MTR 8544 18% 13570.00 6785.00 2 9987 18% IP Camera Installation & DVR Installation 17700.00 17700.00 LED Monitor 32" 8525 18% 1 3400.00 3400.00 . 1 8473 18% Rack 4 U with key and lock 12980.00 11 1180.00 8473 18% Rack 2U with key and lock 65.00 4450.00 70 MTR 8544 18% Lift Cable for Camera & Telephone 1450.00 4350.00 3 8517 18% WI-IF Router 14250.00 19 18% 750.00 Wi-Fi Dongle For Local Area Network 8517 6431.00 6431.00 18% Biometric :- Secureye Model :- SB-50 8453 1180.00 1180.00 1 18% Biometric Cabling and installation 9987 34500.00 34500.00 EPABX System 6in lines X 18 out lines 18% 1 8517 6490.00 6490.00 1 100 lines D.B. Box with krone 8517 18% 5664.00 8517 18% 4 1416.00 20 lines D.B. Box with krone 18% 8 1003.00 8024.00 8517 Phone instruments 100 MTR 3776.00 8544 18% 37.76 2 pair telephone cable 8517 18% 8 88.50 708.00 1/0 box . 2360.00 2360.00 EPABX System Installation & programming 9987 18% Grand Total :-540038.50 BANK DETAILS BANK NAME - IDBI BANK MAHIM BRANCH, Mumbai-16 Advance Payment 200000.00 ACCOUNT NO. 0767102000006262 IFSC: (BKI,0000767 Balance 340038.50 PAN Card No. ARBPK2029B In Words Rupees-Five Lakh Fourty Thousand Thirty Eight & Paise Fifty E&O.E. Declaration: We declare that this invoice shows the actual price of the goods described and that all perticulars are true and correct. 9.09.2019

Ladies Common Room:

When students enjoy break between lectures, they find relaxation and recreation in the Common Room. The girl's common room is meant for sick girl students to relax. It is well ventilated.





Institute also ensures social security through Anti-Ragging Committee, Grievance Redressal cell Internal Complaint Committee

***ANTI-RAGGING COMMITTEE 2021-22**

Name of the member	Designation	Signature
Dr. Nankumar Ingale	Principal	G3/5/16
Prof. SagarMohite	Assistant Professor	200
Prof. SnehalDeshamukh	Assistant Professor	58
Prof. Amol Sonawane	Assistant Professor	- Charles
Prof .VikasGhare	Assistant Professor	YA
Prof. VaibhavBorade	Assistant Professor	Horale
Mrs. AratiAwate	Senior Clark	AC
	Winds A Contract of the Contra	

***GRIEVANCE REDRESSAL CELL 2021-22**

Name of the member	Designation	Signatu
Dr. Nankumar Ingale	Principal	BASIENS
Prof. SagarMohite	Assistant Professor	3
Prof. AnantGharat	Assistant Professor	Agel
Prof. Vikas Ghare	Assistant Professor	NA
Prof. AratiAvate	Senior Clark	AC
	Watoshree Su	

❖ INTERNAL COMPLAINT COMMITTEE 2021-22

Dr. Nankumar Ingale Dr.ManishaBansode Adv. S.S.Phaddkar Prof.SagarMohite Prof.SnehalDeshmukh Prof.VikasGhare Mrs. AratiAwate Miss.DipikaTikhande Mr.SagarSapkale	Principal Convener Legal Advisor Assistant Professor Assistant Professor Assistant Professor Senior Clark Student Member	gane ig
Adv. S.S.Phaddkar Prof.SagarMohite Prof.SnehalDeshmukh Prof.VikasGhare Mrs. AratiAwate Miss.DipikaTikhande	Legal Advisor Assistant Professor Assistant Professor Assistant Professor Senior Clark	Sug-
Prof.SagarMohite Prof.SnehalDeshmukh Prof.VikasGhare Mrs. AratiAwate Miss.DipikaTikhande	Assistant Professor Assistant Professor Assistant Professor Senior Clark	Sug Sug Ale
Prof.SagarMohite Prof.SnehalDeshmukh Prof.VikasGhare Mrs. AratiAwate Miss.DipikaTikhande	Assistant Professor Assistant Professor Senior Clark	S GO
Prof.VikasGhare Mrs. AratiAwate Miss.DipikaTikhande	Assistant Professor Senior Clark	AC STANDARD
Mrs. AratiAwate Miss.DipikaTikhande	Senior Clark	AC STANDARD
Miss.DipikaTikhande		AC
Miss.DipikaTikhande Mr.SagarSapkale	Student Member	TE SEL - DAG
Mr.SagarSapkale		TI K YOU DO
	Student Member	gagar
	State & Comment of the Comment of th	o Contantantanta

PROGRAMS ON GENDER EQUITY:

SELF-DEFENSE PROGRAM



TRAINING SESSION OF SELF DEFENSE PROGRAM





INTERNATIONAL WOMEN'S DAY







SAVITRBAI PHULE BIRTH ANNIVERSARY CELEBRATION

"Ti ladhali Amhi Ghadlo"





सावित्रीबई फूर्ने जराती माधुरी मुळीक यांचे प्रतिपादन शिकविणारी म्हणून मुली

🛚 कर्जत, (वा.) घरातील एक आवारात स्त्री शिक्षणाच्या प्रणेत्या उत्सव साजरा करण्यात आला.

'आम्ही सावित्रीच्या लेकी' कार्यक्रमाला चांगला कार्यक्रमाचे आयोजन

'आम्ही सावित्रीच्या लेकी, ती महिला शिकलेली असेल तर त्या लंबली आमही घडलो...' क्ट्रंबाचा उद्धार होतो आणि संपूर्ण संकल्पनेवर आधारित कार्यक्रमाला कुटूंब शिक्षित होत असते आणि प्रमुख नेरळ पोलीस स्टेशनच्या कण्न मुलीला चांगले शिक्षण महिला पोलीस उपनिरीक्षक माधुरी देण्याकडे भर द्यावा असे आवाहन मुळीक, सोनी जवादे यांची प्रमुख नेरळ पोलीस ठाण्याच्या महिला उपस्थिती होती, कार्यक्रमाच्या पोजीस उपनिरीक्षक माध्री मुळीक अध्यक्षस्थानी प्राचार्य डॉ. नंदकुमार वानी केले. नेरळ येथील सुमती इंगळे तर इतिहास विभाग प्रमुख चिंत्रमणी टिपणीस वरिष्ठ प्रा.अनंत चरत, अर्थशास्त्र विभाग महाविद्यालयाच्या इतिहास विभाग प्रमुख डॉ. स्नेहल देशमुख यांनी आणि महिला विकास कक्ष यांच्या केले. प्रास्तविक ग्रंथपाल जागृती संपुक्त विद्यमाने महाविद्यालयाच्या चारे यांनी केले. या कार्यक्रमाच्या आयोजनात महाविद्यालयातील सावित्रोबाई फुले यांच्या जयंती सर्व प्राध्यापकांसह विद्यार्थी-विद्यार्थीनी उपस्थित होत्या. प्रतिसाद स्वाभस्ता.

-



त्रास होत असल्यास न घाबरता पोलिसांशी संपर्क करा

महाविद्यालयातील मुलींना मार्गदर्शन करताना नेरळ पोलीस ठाण्याच्या महिला पोलीस उपनिरीक्षक माधुरी मुळीक यांनी स्वतः बदल विद्यार्थी ते पोलीस उपनिरीक्षक या त्यांच्या प्रथासाबद्दल विद्यार्थ्यांना सामितले . विद्यार्थ्यांना स्पर्धा परीक्षेचे महत्व आणि स्त्रियांच्या बाबतीत घडणारे गंभीर गुन्हे रोखण्यासाठी उपाय योजना सांगितल्या , तसेच विद्यार्थी आणि पोलीस यांच्यात समन्वयं साधण्यासाठी प्रत्येक महिन्याला विद्यार्थ्यांशी संवाद साधणार असल्याचे सांगितले , मुलीनी न घावरता होणाऱ्या गुन्ह्यांची माहिती पोलिसाना द्यावयास सांगितले .

🛚 या प्रसंगी त्यांनी त्यांची स्वरचित कविता विद्यार्थ्यांना ऐकवली. त्यामुळे वदीं मध्ये दडलेल्या कलाकाराचे दर्शन विद्यार्थ्यांना झाले , तर महिला पोलीस उपनिरीक्षक सोनी जवादे यांनी देखील विद्यार्थ्यांना मार्गदर्शन केले 🛚 मेहनत, जिद्द आणि विकाटी यांच्या जोरावर तम्ही कोणतीही परीक्षा तुम्ही यशस्वी करू शकता. यासाठी विद्यार्थ्यांनी मार्गदर्शन केले. त्यांनी देखील स्वत बदल विद्यार्थी ते पोलीस उपनिरीक्षक या त्यांच्या प्रवासा याबाबत विद्यारयांना माहिती सांगुन प्रेरित केले

पुण्य है नगरी

मुलीला शिक्षण देण्यावर भर द्या - मुळीक

• कर्जत : घरातील एक महिला शिकलेली असेल तर त्या कुटुंबाचा उद्धार होतो. संपूर्ण कुटुंब शिक्षित होते. म्हणून मुलीला चांगले

शिक्षण देण्याकडे भर द्यावा, असे आवाहन नेरळ पोलीस ठाण्याच्या महिला पोलीस उपनिरीक्षक माधुरी मुळीक यांनी केले. नेरळ येशील सुमती चिंतामणी टिपणीस वरिष्ठ

महाविद्यालयाच्या इतिहास विभाग आणि महिला विकास कक्ष यांच्या संयुक्त विद्यमाने महाविद्यालयाच्या आवारात स्त्री शिक्षणाच्या प्रणेत्या सावित्रीबाई फुले यांच्या जयंती उत्सव साजरा करण्यात आला.

आम्ही सावित्रीच्या लेकी ती लाढली अम्ही घडलो... या संकल्पनेवर आधारित कार्यक्रमाला प्रमुख नेरळ पोलीस स्टेशनच्या महिला पोलीस उपनिरीक्षक माधुरी मुळीक, सोनी जवादे यांची प्रमुख्या रिश्वती होती. अध्यक्षस्थानी प्राचार्य डॉ. नंदकुमार इंगळे, तर इतिहास विभाग प्रमुख प्रा. अनंत घरत, अर्थशास्त्र विभाग प्रमुख डॉ. स्नेहल

देशमुख होते. प्रास्ताविक ग्रंथपाल जागृती घारे यांनी केले. कार्यक्रमाच्या आयोजनात प्रा. सागर मोहिते, प्रा. संतोष तुरुकमाने, प्रा. अमोल सोनवणे, प्रा. सोनम गुप्ता, प्रा. दुराज टिवाळे, प्रा.

विकास घारे, प्रा. वैभव बोराडे, प्रा. धनंजय कोटांगळे, आरती आवटे, नरेंद्र देशमुख यांसह विद्यार्थी-विद्यार्थिनी उपस्थित होते. माधुरी मुळीक यांनी त्यांच्या संघर्षाची माहिती दिली. विद्यार्थ्यांना स्पर्धा परीक्षेचे महत्त्व आणि स्त्रियांबाबत घडणारे गंभीर गुन्हे रोखण्यासाठी उपाययोजना त्यांनी सांगितल्या. तसेच विद्यार्थी, पोलिसांमध्ये समन्वय साधण्यासाठी प्रत्येक महिन्याला विद्यार्थ्यांशी संवाद साधणार असल्याचे त्य